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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

Question numbers 1 to 10 are of 1 mark each.

11

The decimal expansion of the rational number 23 52 will terminate after :

(A) one decimal place (B) two decimal places

(C) three decimal place (D) more than 3 decimal places

If the HCF of 65 and 117 is expressible in the form 65 m —117, then the value of m is :
(A) 4 (B) 2 € 3 (D) 1

The degree of the polynomial (x+1) (x2—x—x*+1) is :
(A) 2 B) 3 (©) 4

If a pair of linear equations is consistent, then the lines will be :
(A) parallal (B) always coincident

(C) intersecting or coincident (D) always intersecting.

A data has 25 observations (arranged in descending order). Which observation represents
the median ?

(A) 12th (B) 13th (C) 14th (D) 15th

3
If cosech = bX then 2(CoseC29 +cot26) is :

(A) 3 (B) 7 (C) 9

If sinf +sin%0 =1, the value of (cos20 + cos*) is :
(A) 3 (B) 2 © 1

If AABC~ADEF, BC=4 cm, EF=5 cm and ar (AABC) =80 cm?, the ar (ADEF) is :
(A) 100 cm? (B) 125 cm? (C) 150 cm? (D) 200 cm?

1040106 - C1




In fig. 1, if PS=14 cm, the value of tan a is equal to :

S

coty®

10. Infig. 2, if D is mid - point of BC, the value of O is :
cotx

A

SECTION - B
Question numbers 11 to 18 carry 2 marks each.

Find the H.C.F of 455 and 84 using division algorithm.

Solve : 47x+31y=63, 31x+47y=15.

3 5y+1=0 2 3=0
x Y HEE0 L TyEes
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19.

a, B are the roots of the quadratic polynomial p(x) =x?— (k—6) x + (2k+1). Find the value of

k if a+B=ap.

1
If tan6 = ﬁ , find the value of

Write the following distribution as less than type cumulative frequency distribution:

cosec20 + sec20

cosec?0 — sec?0’

C.L

140 -145

145 -150

150 -155

155 -160

160 -165

165 -170

Frequency

10

8

20

12

6

4

Find the modal class and the median class for the following distribution :

C.1I

0-10

10 - 20

20 -30

30 -40

40 - 50

Frequency

6

10

12

8

7

If the areas of two similar triangles are equal, prove that they are congruent.

From the given figure, find £ MLN.

Show that 5— /3 is irrational.

Fig. 3

SECTION - C
Question numbers 19 to 28 carry 3 marks each.

Show that /2 + /3 is irrational.
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25.

26.

Check whether 6" can end with the digit zero for any natural number n.

If o, B are the two zeroes of the polynomial 25 p?>—15 p+2, find a quadratic polynomial

1 1
whose zeroes are % and 2B

If A,B,C are interior angles of AABC, show that :
B+ Cj A

21
2 2

COS(?C2 (

OR
sec20 +cot? (90 —0) =2 cosec? (90— 0) —1.

The sum of digits of a two digit number is 11. The number obtained by interchanging the
digits of the given number exceeds that number by 63. Find the number.

OR

The taxi charges in a city consist of a fixed charge together with the charge for the distance
covered. For a distance of 10 km, the charge paid is Rs 105 and for a journey of 15 km, the
charge paid Rs. 155. What are the fixed charges and the charge per km ?

In fig (4), APQR, right angled at Q, QR=6 cm, ZQPR=60".
Find the length of PQ and PR.
P

60°

6 cm
Fig. 4

The mean of the following frequency distribution is 52. Find the missing frequency.
C.L 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70 - 80
Frequency 5 3 4 f 2 6 13

Find the mode of the following frequency distribution :
C. L 0-10 [ 10-20 | 20-30 | 30-40 | 40-50
Frequency 5 8 15 20 14
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27. In fig. 5, ABD is a triangle in which £ DAB=90°and AC_LBD. Prove that
AD?=BD x CD.

D

Fig. 5

Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the
squares of its diagonals.

SECTION - D
Question numbers 29 to 34 carry 4 marks each.

Solve the following system of equations graphically and find the vertices of the triangle
bounded by these lines and the x-axis.

2x—3y—4=0, x—y—1=0.

Draw ‘more than ogive’ for the following frequency distribution and hence obtain the
median

C. L 5-10 10-15 | 15-20 | 20-25 | 25-30 [ 30-35 | 35-40
Frequency 2 12 2 4 3 4 3

Prove the following :

If a line is drawn parallel to one side of a triangle to intersect the other two sides in distinct
points, the other two sides are divided in the same ratio.

OR

Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares
of the other two sides.

Find all the zeroes of the polynomial x*+ x> —9x?—3x +18, if two of its zeroes are /3,

—J/3.
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cosh — sin® + 1

33. DProve that cos0 + sinb — 1 = cosech + coth.

34. If x=rsin A cosC, y=r sin A sin C, z=r cos A, prove that r2=x2+y2+22.

OR
1+ cosA

Prove that ,/————— =cosecA + cotA.
1— cosA
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(A) 2 B) 3
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25 TSl 1 Ted §J HH | TN A1 i GT SATheT HIART hT TN ?
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3
g cosech = 5 T 2(cosec20 +cot26) T :

(A) 3 (B) 7 Q) 9

TS sind +sin20 =1 T (cos2 + cos*) T AM BT
(A) 3 (B) 2 © 1

If¢ AABC~ADEF, BC=4 9.7, EF=5 9. 7. &%a (AABC) =80 ¥.7.2q9 &5%d (ADEF) ¥ :
(A) 100 9.H1.2 (B) 125 ®.#i.2 (C) 150 9.H1.2 (D) 200 ¥.71.2
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12. B U 47x +31y=63, 31x +47y=15.
3 2
~ TSy +1=0, ——y+3=0

X
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cosh — sin® + 1

g hifeT =cosecO + cot0.

cosO + sinf — 1

Ifg x=7rsin A cos C, y=rsin A sin C, z=r cos A, a fag =ifsu r2=x2+y2+zz.

El

1+ cos A

g HifeT =cosecA + cotA.
1— cosA
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